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MEE
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319,621
745,783

10 MeISXAEHE2EHIEX
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o

OFOe HA=AE 228 XA
3,551,349,000&

Mo W

3,551,349

3,551,349
2,485,945
319,621
745,783

3,306,758

244,591

M H

152,880
45,864
107,016

154,320

A H
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154,320

03 A2 E A0 2 (XL THH)
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152,880,000

UMY
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107,016
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ZOHRIAFAIE MEIAXIR

M
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11,055

A265
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OZOANFAIE MEIAXIZ
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M
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M
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M H

900
270
630

600

300

11 MEI=SXIAEEE
OZMLIAFAIE 018X QIAWSE X

o

900,000

M

900

900
270
630

600

300

oz
2
e
i
Qe
=
oy
=
x
Mo
02

in

570,324
79,845

486,961

83,363




2A:

EZH:

o1

cHel: xFOHOIEII/\I INEE EER=E)
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o 490,479
307 @20l & 570,324 486,961 83,363
=S 79,845
s 490,479
10 AlRISXAEEE 22X 570,324 486,961 83,363
OBOE! NATHENL 2
570,324,000 570,324
< 79,845
= 490,479
OIS OISKIHHE 29 210,436 203,869 6,567
= 42,087
a 168,349
307 gl2to| & 210,436 203,869 6,567
=S 42,087
s 168,349
10 AlRISXAZEE 22X 210,436 203,869 6,567
OHOfY MBOISKRAHE 22 X
210,436,000 210,436
< 42,087
= 168,349
=0 SAME 29 183,472 163,589 19,883
= 31,190
Ea 162,282
307 gl2to| & 183,472 163,589 19,883
= 31,190
o 152,282
10 AlRISXAZEE 22X 183,472 163,589 19,883
Ox=0S4dH 298 X&
183,472,000& 183,472
< 31,190
[Ea 152,282
sotel S8 45823 2SI 5,220 3,840 1,380
= 783
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OO0t S48 25 K&
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307 @20l & 110,000 110,000 0
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11 ARRIS XA E X 110,000 110,000 0
OXIHMZoHe! HAANLAEHEH 28 X2
110,000,000 110,000
< 22,000
= 88,000
ZOHRIE AL AEHZR A = AL 17,952 0 17,952
= 5,387
a 12,565
307 gl2to| & 17,952 0 17,952
=S 5,387
s 12,565
05 git?(& = 17,952 0 17,952
OZ OB AAE AEHT+=TAL
17,952,000 17,952
< 5,387
= 12,565
ANMEOHAHE TGS XN ZEEH =2 70,000 65,000 5,000
= 14,000
Ea 56,000
307 gl2to| & 70,000 65,000 5,000
= 14,000
o 56,000
1 AMISXAIEEX 70,000 65,000 5,000
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< 14,000
Ea 56,000
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[Ea 96,000
307 elzto| & 120,000 148,000 /28,000
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OXHM ! AASEAIE K&
50,000,000 50,000
=S 10,000
s 40,000
ool Aess N 50,000 50,000 0
& 10,000
= 40,000
307 glztol & 50,000 50,000 0
= 10,000
= 40,000
11 MEISXAEE 50,000 50,000 0
OZ0fQ =S N2AS X
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=S 10,000
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= 84,511
Ea 36,219
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= 120,730
= 84,511
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OHMAAHFAIEIISEZ AL
241,460,000 241,460
= 120,730
= 84,511
s 36,219
FH=A K2 1,952,650 2,266,651 /314,001
= 1,441,100
= 252,235
[Ea 259,315
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= 17,100
= 5,130
= 11,970
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= 17,100
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= 11,970
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[Ea 11,970
05 2ItRIE = 34,200 30,400 3,800
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= 17,100
== 5,130
o 11,970
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